
MODEL NO: ABS416A 

FORD MUSTANG 2015UP SPOILER 

 

PLEASE READ THESE INSTRUCTION CAREFULLY PRIOR TO INSTALLATION 

 

Important Note: Please inspect your spoiler for proper fit before painting or mounting  

 
Installation Instructions 

 

Hardware Kit (Supplied on each spoiler) 
1.  M6 Screws = 12 pcs  3.  Screw Caps = 4 pcs  5.  Template (reversible) = 1 pc   
2.  Washers = 12 pcs  4.  Gaskets = 2 pcs   

 

Tools Required :- 
- Isopropyl alcohol or equivalent / Phillips Screwdriver / Masking Tape / Vacuum Cleaner / Centre 

Punch / Hand Drill / Drill Bits : 8mm / Hammer 
 

General Instructions :- 
a)  Use protective covers to avoid damage to vehicle 
b)  Clean the mounting areas and dry thoroughly 

 

Spoiler Installation :- 
1. Stick the template (reversible) with masking tape on the correct position of the Driver Side  

of trunk lid. (Illustration 1) Drill 8 mm on each hole. (Repeat the same step on the 
Passenger Side of trunk lid) 

2. Stick the gasket on each spoiler’s leg and slightly tighten spoiler’s leg with M6 screws to the 
trunk. (Illustration 2) 

3. Tighten both spoilers’ legs to the spoiler with M6 screws and attach with screw caps.  
(Illustration 3) 

4. Finish tightening all the M6 screws to hold the spoiler securely to the trunk. (Illustration 4). 
 
1)       2) 

       
    
 
3)       4) 
 

     


